C:# Examining Place Vaue Name:

Deter mine which choice best answer s each question. Answers

1) Which choice has adigit in the onesplacethat 2) Which choice has adigit in the ones place that

is exactly twice the value of the digit in the is exactly twice the value of the digit in the 1

tens place? ten thousands place?

A.57 A. 97,456 2

B. 46 B. 48,512

C.53 C. 38,796 3.

D. 24 D. 45,723

4,

3) Which choice hasadigit in thetens placethat 4) Which choice has adigit in the ones place that

is exactly twice the value of the digit in the is exactly three times the value of the digitin | 5

hundreds place? the thousands place?

A.731 A. 5,429 6.

B. 587 B. 1,163

C. 768 C. 9,368 7.

D. 481 D. 4,578

8.

5) Which choice has adigit inthetensplacethat 6) Which choice has adigit in the tens place that

is exactly three times the value of the digit in is exactly three times the value of the digitin ||

the hundred thousands place? the ones place?

A. 865,423 A. 7,293 10.

B. 275,962 B. 5,613

C. 479,813 C.3,751

D. 637,489 D. 7,396

7) Which choice has adigit in the ones placethat  8) Which choice has a digit in the ones place that

is exactly four times the value of the digit in is exactly four times the value of the digit in
the hundreds place? the tens place?

A. 96,428 A.71

B. 83,915 B. 13

C. 69,857 C.19

D. 35,144 D. 28

9) Which choice has adigit in the ten thousands 10) Which choice has a digit in the hundred

place that is exactly five times the value of the thousands place that is exactly six timesthe
digit in the hundreds place? value of the digit in the tens place?

A. 57,139 A. 781,946

B. 35,876 B. 653,491

C. 79,482 C. 617,814

D. 67,182 D. 892,437
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Ch Examining Place Value Name: Answer Key

Deter mine which choice best answer s each question. Answers

1) Which choice has adigit in the onesplacethat 2) Which choice has adigit in the ones place that

is exactly twice the value of the digit in the is exactly twice the value of the digit in the 1 D

tens place? ten thousands place?

A.57 A. 97,456 2. C

B. 46 B. 48,512

C.53 C. 38,796 3. D

D. 24 D. 45,723

s B

3) Which choice hasadigit in thetens placethat 4) Which choice has adigit in the ones place that

is exactly twice the value of the digit in the is exactly three times the value of the digitin | 5 B

hundreds place? the thousands place?

A. 731 A.5,429 6. A

B. 587 B. 1,163

C. 768 C. 9,368 7. D

D. 481 D. 4,578

g. D

5) Which choice has adigit inthetensplacethat 6) Which choice has adigit in the tens place that

is exactly three times the value of the digit in is exactly three times the value of the digitin || A

the hundred thousands place? the ones place?

A. 865,423 A. 7,293 0. C

B. 275,962 B. 5,613

C. 479,813 C.3,751

D. 637,489 D. 7,396

7) Which choice has adigit in the ones placethat  8) Which choice has a digit in the ones place that

is exactly four times the value of the digit in is exactly four times the value of the digit in
the hundreds place? the tens place?

A. 96,428 A.71

B. 83,915 B. 13

C. 69,857 C.19

D. 35,144 D. 28

9) Which choice has adigit in the ten thousands 10) Which choice has a digit in the hundred

place that is exactly five times the value of the thousands place that is exactly six timesthe
digit in the hundreds place? value of the digit in the tens place?

A. 57,139 A. 781,946

B. 35,876 B. 653,491

C. 79,482 C. 617,814

D. 67,182 D. 892,437

1-10 90|80 70|60 |50]40]30]20[10] O |

[ M ath ] www.CommonCoreSheets.com




	Worksheet
	Answer Key

